ol
K
ol
o8

ofig
Nfo
mo
ol
ol

tot = m//n

5

8

mIt nol A= 3§

24

O F

AB

99] 5 4 A, B Atol9] A =

=BM

® Mo] AE AB 9 &4 = AM




M)

2. o I"A A Mol A& AB o 1Y o, AB & A P Aol 9
718=?

}-U

A M HBC

®pPA opm @G)PH @PC  ©FPB

AB ¢ 3 P Ato]9] A== AB &P £ e AR S5 /M RS
Aolnz PH o]t}




3.

The 2ol A the £ 2S AL
B Al
P
° m
C

@ A= Aol £5HA] ket

A~
@ A= AT A Mol S},

® A1 AL} HBo| &3t

~&B

Holal, A C = 24 A Hol oyt

@ HB= Addmel &3t

@ HA = A4l £

@ AC+= AT AAdmol £5H7] =t (
ol obytt.)

® HAL FAIo] £3517, ABE HAmo] Sk,

o)
Q
rlr

A PEAA 99T HolL, B, P A m A T
[e)

Ol
=4




4. ts 2" H3 A0 AAEAE A e 220

l

Qe

O AAEAA gl . @)F B = Q4199 Ak
® ABEF4 et @ A x4 90 Ak

® ol gl

B

A BT 2A [ o St
DAgl
®B¢l
@Ce¢l




T3 Zol A 1 §lel vl & A, B, C, D 7F A2 9l o,

l




o

O

O 119
A Im

a 1o
O 1M

a 10
aa g Jaa|

O 1
< I<<

e @




ohe 93 2ol & A4 919 A [k 24 ) @ Aol k. o] v
Mol oz dA=E A9 Mee?
D
[
A B C
@A @54 OcH @A O 8A
B, BB, &B, A¢




D

Be

L]&)

@ 570 @D6ﬂ @ 7 ©® 87

@ 47

JoiE ™ 6 7ol

o
A=

il

Z]
Al




9. o "M x+ 2y 9 G2 Aokl

>
> " 103°

0.
I

X+ 15° + 87° + y — 25° = 180°
o Lx+ 2y = 103°




10. 194 sAOC 7} «COB 9] 3 i uj,
(AOC 9] 2715 F35}oqzt,

iy
o

/AOC =3 /COB °|E2 4/COB = 180°
w2bA ,COB = 45° o]t}
. ZAOC =135°




